
SAP ABAP table VTVESSP_LI {Limit Management: SAP Fields}

VTVESSP_LI

MANDT [CLNT (3)]

SLA [CHAR (3)]

RLV [NUMC (20)]

SLH [NUMC (2)]

WLIMIT [CUKY (5)]

RELUSER [CHAR (12)]

RESUBUSER [CHAR (12)]

BUKRS [CHAR (4)]

PARTNR [CHAR (10)]

SLPG [CHAR (3)]

RPORTB [CHAR (10)]

RDEALER [CHAR (12)]

WAERS [CUKY (5)]

INTORG [CHAR (10)]

RCOUNTRY [CHAR (3)]

COUNTRY [CHAR (3)]

SECTOR [CHAR (10)]

RATING [CHAR (3)]

CRATING [CHAR (5)]

LLUSER [CHAR (12)]

SLI  [NUMC (1)]

WLI [CUKY (5)]

ATLA

MANDT [CLNT (3)]

SLA [CHAR (3)]

 VTVESSP_LI-SLA = ATLA-SLA 

1..N

1

ATLPG

MANDT [CLNT (3)]

SLPG [CHAR (3)]

 VTVESSP_LI-SLPG = ATLPG-SLPG 

1..N

1

ATLSLI

SLI [NUMC (1)]

 VTVESSP_LI-SLI = ATLSLI-SLI 

0..N

0..N

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VTVESSP_LI-PARTNR = BUT000-PARTNER 

0..N

0..N

KLINTORG

MANDT [CLNT (3)]

INTORG [CHAR (10)]

 VTVESSP_LI-INTORG = KLINTORG-INTORG 

0..N

0..N

KLLRDEF01

MANDT [CLNT (3)]

CRATING [CHAR (5)]

 VTVESSP_LI-CRATING = KLLRDEF01-CRATING 

0..N

0..N

T000

MANDT [CLNT (3)]

 VTVESSP_LI-MANDT = T000-MANDT 
1..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTVESSP_LI-BUKRS = T001-BUKRS 
1..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VTVESSP_LI-COUNTRY = T005-LAND1 

1..N

1
 VTVESSP_LI-RCOUNTRY = T005-LAND1 1..N

1

TB038A

CLIENT [CLNT (3)]

ISTYPE [CHAR (4)]

IND_SECTOR [CHAR (10)]

 VTVESSP_LI-SECTOR = TB038A-IND_SECTOR 
1..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTVESSP_LI-WAERS = TCURC-WAERS 

1..N

1

 VTVESSP_LI-WLI = TCURC-WAERS 

0..N

{0,1}

 VTVESSP_LI-WLIMIT = TCURC-WAERS 1..N
1

TP06

MANDT [CLNT (3)]

RATING [CHAR (3)]

 VTVESSP_LI-RATING = TP06-RATING 

1..N

1

TWPOB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RPORTB [CHAR (10)]

 VTVESSP_LI-RPORTB = TWPOB-RPORTB 

1..N

1

TZDEA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RDEALER [CHAR (12)]

 VTVESSP_LI-RDEALER = TZDEA-RDEALER 

1..N

1

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 VTVESSP_LI-LLUSER = USR02-BNAME 

0..N

{0,1}

 VTVESSP_LI-RELUSER = USR02-BNAME 

0..N

{0,1}

 VTVESSP_LI-RESUBUSER = USR02-BNAME 

0..N

0..N

VTBLS

MANDT [CLNT (3)]

SLA [CHAR (3)]

RLV [NUMC (20)]

SLH [NUMC (2)]

 VTVESSP_LI-RLV = VTBLS-SLA 

1..N

1

 VTVESSP_LI-SLH = VTBLS-RLV 

1..N

1


